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HA3—2 BEWICEATILEESNIERIES ZEEA/1) _ _ _ | AEEE  BAsEA
SEMNMONE | BmEs 18451019 | Eliea \ BRI -1 | PrTEMh B ER A K IR
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ﬁfg TREOBBOFLADOKRES TaFOHBESELHDKRES TREFOBBOEILADKRES TREDHESSLADKRES
&5 R 4 B | Timh oD IEE ADKES X 4 TimALDKE | & ADKES R 4 Bz | LEhrsnkE ADKES X 4 Limmrootks | g ADKES
(m) (m) (kN/m) EE B (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
7 100kN/mMZ#8% % - -~ - -|3mEBZ S -~ - - -| 100kN/mM%E#BZ % - -~ - -|3mEBZ S -~ - -
Zzh st 1.001 000 ~ 478 59.51 | =hs (000 ~ 478172 923 Zzh st 1.00 | 5.00 ~ 5.00 59.51 | =nLS |6.00 ~ 5.00)1.72 923
2 100kN/mM%Z#BZ5| 100|000 ~ 282 14454 |3mZEBZ3 -~ - - -| 100kN/M#%E#BZ2| 1.00 | 1072 ~ 2800 144.54 |3mE#Z5 -~
Zzh st 100|282 ~ 1060 100.00| Ths | 000 ~ 1060|292 15.65 Zzh st 100|500 ~ 1072 100.00| Zhs | 500 ~ 2800| 2.92 15.65
3 100kN/mM%#BZ25| 100|000 ~ 303 14821 |3mZEBZ3 -~ - - -| 100kN/mM%#BZ2 | 1.00 | 1084 ~ 3680 14821 |3mE#EZ5 -~
zhnLst 1.00 | 303 ~ 1081 100.00 | =St | 0.00 ~ 1081)] 2.99 16.02 ThnLst 1.00 | 5.00 ~ 1084 100.00 | Ens | 5.00 ~ 3680|299 16.02
4 100kN/mMZ#8% % - -~ - -|3mEBZ S -~ - - -| 100kN/mM%E#BZ % - -~ - -|3mEBZ S -~
Zzh st 100000 ~ 715 90.85 | #hdst | 000 ~ 7151195 10.42 Zzh st 100|500 ~ 1020 90.85 | #hS | 5,00 ~ 1020 1.95 10.42
5 100kN/mM%Z#BZ5| 100|000 ~ 017 10242 |3mZEBZ3 -~ - - -| 100kN/mMi%E#Z25 | 1.00 | 1056 ~ 11.00| 10242 |3m%E#BZ5 -~
Zzh st 1001017 ~ 795 100.00 | =ns | 000 ~ 795)| 215 11.51 zhnLst 1.00 | 5.00 ~ 1056 100.00 | #nsS | 5.00 ~ 1100|215 11.561
P 100kN/mM%#BZ25| 100|000 ~ 147 12241 |3mZEBZ3 -~ - - -| 100kN/M#%#BZ2| 1.00 | 11.15 ~ 1609 12241 |3mE#EZ5B -~
Zh s 100|147 ~ 926 100.00 | ThUs | 000 ~ 926|258 13.79 Zh s 100|500 ~ 1115 100.00| Zhs | 5,00 ~ 1609| 2.58 13.79
7 100kN/mM%#BZ5| 100|000 ~ 1.79| 12746 |3mEBZ3 -~ - - -| 100kN/M#%#BZ2| 1.00 | 1072 ~ 1790 12746 |3mE#Z5b -~
Zzh st 1001179 ~ 957 100.00 | =S5 | 000 ~ 9.57) 228 1218 ThnLst 1.00 1 56.00 ~ 1072 100.00 | #nS | 5.00 ~ 1790 | 2.28 12.18
g 100kN/m%Z#BZ2%| 100|000 ~ 114 11721 |3mZEBZ3 -~ - - -| 100kN/M#%#BZ2 | 1.00 | 1257 ~ 1920 117.21 |3mZE#EZ5D -~
Zzh st 100 114 ~ 893 100.00 | =5 | 000 ~ 893210 11.25 zhnLst 1.00 | 5.00 ~ 1257 100.00 | #ns | 5.00 ~ 1920|210 11.25
P 100kN/MZ#B% % - -~ - -|3mEBZ S -~ - - -| 100kN/mM%E#BZ % - -~ - -|3mEBZ S -~
Zh s 100|000 ~ 746 95.27 | #nhust | 000 ~ 0.00| 1.69 9.05 Zh s 1001500 ~ 990 9527 | ThS | 500 ~ 9.90 | 1.69 9.05
10 100kN/MZ#B% % - -~ - -|3mEBZ S -~ - - -| 100kN/mM%E#BZ % - -~ - -[3mEBZ S -~
Zzh st 1.00 1000 ~ 744 94.94 | =S | 000 ~ 744| 1.86 9.96 Zzh st 1.00 | 5.00 ~ 990 94.94 | =nLS | 500 ~ 9.90 | 1.86 9.96
11 100kN/MZ#B% % - -~ - -|3mEBZ S -~ - - -| 100kN/mM%E#BZ % - -~ - -|3mEBZ S -~
Zzh st 1.00 000 ~ 571 71.31 | Ths | 000 ~ 571225 12.06 Zzh st 1.00 | 5.00 ~ 990 71.31 | Ths | 600 ~ 990|225 12.06
12 100kN/MZ#B % % - -~ - -|3mEBZ S -~ - - -| 100kN/mM%E#BZ % - -~ - -[3mEBZ S -~
Zh s 100|000 ~ 723 92.03 | #hdst | 0oo ~ 723|189 10.14 Zh s 1001500 ~ 9.60 9203 | ThS | 500 ~ 9.60 | 1.89 10.14
13 100kN/MZ#B% % - -~ - -|3mEBZ S -~ - - -| 100kN/mM%E#BZ % - -~ - -[3mEBZ S -~
Zzh st 1.00 1000 ~ 649 81.78 | #nhust | 000 ~ 649|175 9.35 Zzh st 1.00|5.00 ~ 7.70 81.78 | #hs |65.00 ~ 770 1.75 9.35
14 100kN/MZ#B % % - -~ - -|3mEBZ S -~ - - -| 100kN/mM%E#BZ % - -~ - -[3mEBZ S -~
Zh st 1.001 000 ~ 478 59.51 | =nst | 0oo ~ 478|206 11.04 Zzh st 1.00 | 5.00 ~ 6.10 59.51 | =nLs | 500 ~ 6.10)] 2.06 11.04
15 100kN/mMZ#8% % - -~ - -[3mEBZ 5 -~ - - -| 100kN/mM%E#BZ % - -~ - -|3mEBZ 5 -~
ZzhnLst 1.001 000 ~ 477 59.47 | =hS (000 ~ 477|175 9.34 ZzhnLst 1.00 | 5.00 ~ 5.00 59.47 | =nLs | 500 ~ 5.00)1.75 .9.34_
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